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(a) NaF, (b) Cu(NO3),, (c) NaCH;CO,.
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(a) Carbon Dioxide (b) Phosphorus triiodide (c) Sulfur dichloride (d) Xenon
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(2) 454/100.1 = 4.54 (mol)  (3) 2.50 x 1073 x 194.2 =0 0.486 (g)
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OO0 1.0 Na,23.0 g,39.3 %: CL, 355 g, 60.7 %
2. C,96.1g,84.1 %: H,18.1¢g,15.9 %
3. N,28.0 g 21.2 %; H,8.06 g, 6.10 %; S, 32.1 g, 24.3 %; O, 64.0 g, 48.4 %.
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000 21.08-0.532 =1.576 (g) Cl
Ti: 0.532/47.88=0.0111(00 Ti) Cl: 1.576 / 35.453 = 0.04445(0C C1)
Cl/Ti=4.000 ogood TiCl



Exercise3.140 0 0 0000 O
500¢g0d FeOUOOODODO@OoOOOAO

O O O Fe,0s, Fe,0, 159.7g 0 Fe111.7¢ 0 0 0 O O O 50.0 x (159.7 /111.7) = 71.5 (g)00
Fe203

Exercise3.150 0 00 000O00O0O0OOOO
gbobooobooooOooOOooOoOoOOOOO0OOO0ODOOOOODOOOOOOOan
obob0ooOoO0OoO00O000O00O000000000DO00 RuClyexH,O OOOOO
gbooonoioesegODOOOODOOOOODOONOO838gH RuCLOOOOOOOONO
xgooao

ODO000000O01.056-0.838 =0.218 (g)
0.218 /18.02 = 0.0121 (D00 )1 0.838 / 207.4 = 0.00404(00 RuCly)
0.0121/0.0040 = 3.0 (=x) RuCl*3H,0



